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Part A
Answer any ten questions.

Each question carries 2 marks.
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. Find the derivative of & (‘E + 1}
2. dy

2 2 _ )

ir T Y =9 find dx

_ 3 2
3. 1 y=3z" — 2z find y,
4. Distinguish between assignment and transportation problems.
5. What are unbalanced assignment problems?
6.  Write a short note on lowest cost entry method.
7. Write a short note on Vogel's method.

8. What are unbalanced problems ? How are they solved?

9. 1 2 3
2 3 4
3 5 7T

Find the rank of a matrix A=
10. Define equivalent matrices.
11. Define set.
12. If A={3,5} , B={x,y} find Bx A.
(10x2=20)
Part B

Answer any six questions.

Each question carries 5 marks.
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Find the differential coefficient of (2)(-1)2

dy
If z® + y3 =3axy g E

How will you solve maximisation problems using assignment problems?

Explain the following (i)basic feasible solution(ii) optimal solution(iii)Non degenerate basic

feasible solution

1 1 1
1 2 -3
2 -1 3

Define non singular matrix. Prove that A=

2 3
)

is nonsingular.

Find the inverse of the matrix
Different types of sets.

If A={1,2,3}, B={2,3,4,5} and C={2,4,6,8} verify that
AU(B—C)=(ANB) - (BNC)

Using venn diagram prove (AN B)°= A°U B°
(6%5=30)
Part C

Answer any two questions.

Each question carries 15 marks.

2 — 2z + 2
Differentiate (m + 2)($ + 1)

Four jobs are to be assigned to four machines.The operation times for the various combinations of

jobs and machines are given in the following table .Determine the optimum assignment schedule

1 2 3 4
A 1 4 6 3
B 8 7 10 9
C 4 5 11 7
D 6 7 8 5

Find the initial feasible solution to the transportation problem given below by North west corner

rule
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A B C D Supply
P 21 16 15 3 11
Q 17 | 18 | 14 | 23 13
R 32 27 18 41 19
Demand 6 10 12 15
25.
1 2 0 -1
3 4 1 2
Reduce the matrix T 2 3 2 5 into canonical form.
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(2x15=30)
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